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6. CTEYKTYPA HA OBI JIOXON HA HAENDIABAHNTE CEMEACTBA
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7. DAPEYER JIOXON HA HARIDIABARNTE CEMEACTEA
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Cpexso Ha CeuMeficTBO - XeBa
Jloxox 1100 B840 1215 1694 2169 2182 2457 o528 2705 2724 3337 2064 2209
0T padoTEA 3amNaTa 302 258 702 1090 1732 1601 2032 2010 1944 2252 3075 2304 1687
or TK3C 55 o 25 95 50 66 45 18 59 Y| 53 5 51
0T O0mECTBEEO OCETypd-
pame 535 425 291 302 249 288 204 303 291 202 129 il 256
0T MOMOEHOTO CTOMAH=
CTBO o 8 11 35 19 28 31 29 34 22 1 39 26
XPyTE XOXOXH 205 115 186 172 119 199 145 168 377 207 79 545 189
CpexEo Ea Imne - AeBA
Jloxox 200 265 353 469 S61 649 753 855 938 1038 1135 1524 667
0T pagdoTHA 3ANAATAE 55 81 204 302 448 477 623 680 674 858 1046 1184 509
.07 TH2C 10 7 26 13 20 14 6 20 16 18 3 15
0T O0MeCTBOEO OCHTrypd-
BaH® 97 134 85 B4 64 85 62 102 101 T L4 37 78
0T NMOMOMHOTO CTONAH- :
cTBO 1 3 3 10 5 8 10 10 12 8 0 20 8
ADYyTR XOXOXH 37 3B 54 47 A 59 44 Sf s 79 27 280 57
CTpyYyETYDA
Jloxox 100,0 100,0 100,0 100,0 100,0 100,0 100,0 100,0 100,0 100,0 100,0 100,0 100,0
0T paGOTHA SANZATA 27,5 30,6 57,8 64,4 79,9 73,5 82,7 79,5 T,9 82,7 92,1 TI,7 76,3
or m 5.0 “.1 2.0 5'6 2'3 3'1 1'9 0.7 2'1 1’5 1'6 0'2 zlz
0T O0MECTREHO OCHIYypd~
Rame 48,5 50,6 24,1 17,9 11,4 13,1 8,2 11,9 10,8 7,4 3,9 2,4
0f NOMONEOTO CTOMAH=-
CTRO 0|5 1 ,1 O’B 2'1 0.9 1 .2 1,3 1 ’2 1.2 0'8 0'0 1.3

XPyTH XOXOXH 18,5 13,6 15,3 10,0 55 91 5,9 6,7 18,0 76 2,8 188




